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<HE>

RSRATRICEE SR IS5 O Bk S8 (OBK) CFR24423 1 16 AR A @8 59 1307)

B EES DA (220134, 7 4137

431 110 Bg/kg
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HEEES A (B 134, BT 4137 631 110 Bg/kg

(2) J&E (BrH TERME: 10 Ba/ke(F#ZIE))

ETOHTTH00 Ba/kgbh T THD, M HSWTE EHOZEHLHOD, Bt

TR TE THER

Cs=134+Cs—137: A ~ 347 Ba/kg(#ZJE) (A ~ 386 Ba/kg(HzlE))

<HBE> FEEES T AT L (500 Bq/kg) DUEAHEEC () pPIEamEE s
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AYE 15 0 0 0 0 0 15
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KEEZRIUTHRE—E
BRI A ki — % H T B I L (Ba/L)
BREA | K ki | B E 5y ss W JEEE o A %
No. Tk 4 (m)
(m) (m) (%0) (mg/L) (&) Cs—134 Cs—137

1| FE U i S Sk SR R 2000m T =8 TH5H = 14.6 0.5 8.3 31.6 ! 0.4 <l <l
T 13.6 32.0 <1 0.4 <1 <1
o kit serE 1 ettE |28 | 7pse | & | 25 051, 26.6 9 5.9 a a
T 1.5 26. 7 9 5.8 <1 <1
3| AH R Hb 5 v BB )1 592000m s 3T =8 7H6H i 19.3 0.5 12.0 30.5 < 0.1 <l <l
T 18.3 32.1 1 0.5 <1 <1
1 571 4 1000m o 3T fg A6 | m | 8.3 22 5.4 if; i 11 : :
JRAT T E3E 0' 5 29. 7 1 0' 7 <1 <1

5 K H 59 1000m e 3T = 7H6H i 10.5 : 8.2 : :
T 9.5 31.7 1 0.5 <1 <1
6 /NI 1000m e 3T =8 THTH i 10.6 0.5 >10. 6 29.8 < 0.6 <l <l
T 9.6 30. 4 <1 0.4 <1 <1
7 FH )1 1HK92000m s 3T f’é THTH i 15. 4 12‘2 8.5 i?‘i 2 g‘; : :
PP SE R E3E 0' 5 30. 9 <1 0' 6 <1 <1

8 REJI 7K 1000m et 3T = TH10H i 12.1 : 7.8 : :
T 11.1 32.2 <1 0.6 <1 <1
9 & ) 119 1000m {3 =8 TH10H i 10.0 0.5 7.5 31.0 < 0.7 < <
T 9.0 31.9 4 0.9 <1 <1
10| HE LT Hb Se i dk AF NI 1000m e 3T =8 THI11H i 12.3 0.5 7.8 31.0 3 0.8 <l <l
T 11.3 32.0 10 1.7 <1 <1
117 R F ##91000m {3 =8 THI11H i 10.8 0.5 7.8 3.5 < 0.6 <l <l
T 9.8 32.9 4 0.8 <1 <1
12| KA [ ##51000m {3z =8 THI11H i 10.9 0.5 6.5 32.9 < 0.4 <l <l
T 9.9 32.8 2 0.6 <1 <1
13|V o & T S B HN M9 1500m 3T =8 THI12H i 18.9 0.5 10.2 33. 1 < 0.1 <l <l
T 17.9 33.2 <1 0.2 <1 <1
14[/N 4k VG BGR55 200 ALKI400 m A 3T L TA12H i 16.5 0.5 2.8 25.6 2 L9 <l <l
T 15.5 33.1 5 2.4 <1 <1
15| HHE S ek 0 1 559 1000m A< 3T =8 THI12H i 17.6 0.5 7.2 32.1 ! 0.4 <l <l
T & 16.6 30. 2 <1 0.2 <1 <1
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RIS kT —HXIE H TSP E IR [Ba/kg (FLJE) ]
= ESVAN O = A3 R ey B s
No. 7kiﬂi% :F?KE& H 35{% (m) :BK(E{;!E g(@#‘ ‘l‘%llj( f&%—f l‘%"? N '7 I _ {Jﬁ%
(cm) (%) Cs—134 Cs—137 &
L[ AR B b Sl v dn FIRT R R 2000m ) 3T TAS5H ) 14.6 5 74.2 b <10 <10 -
2\ ) 1| i Sk TR ZEHE X X 1 B FR oS TH5H o 2.5 5 72. 8|« 2L b <10 69 69
S| AR B b Sk H5)13#592000mf 30 7TH6H i 19.3 5 75.5 0y <10 14 14
4 L . 1) 1000mfS U TH6H = 8.3 5 72.0 b 12 87 99
JSURT 7 M e
5 IR K P9 1000m A<t 3T 7TH6H T 10.5 5 74.5 22 <10 18 18
6 IS 59 1000mfs 3T 7THTH i3 10.6 5 71.5 Tib <10 15 15
7 ; 55 7)) 11I#92000m A 30 THTH i 15.4 5 71.5 b 15 97 112
i Xt S Vi
8 R s REJHP#91000mfs 3T 7TH10H 5 12.1 5 73.9 b 22 160 182
9 B 7K 1000mft T TH10H i 10.0 5 69. 7 b 26 210 236
10| FEBEMT Hb ek AF)#I1000m S 4T 7TH11H 5 12.3 5 72.8 b 18 110 128
11| VRN 1 A 1000mAs it TH11H i 10.8 5 72.9 0y <10 62 62
12| FRAJHRT 21 ¥ 1000m A+ 3T TAH11H % 10.9 5 72.7 T <10 35 35
13|V o & A SE ek S 1500m A 3 TH12H T 18.9 5 73.6 b <10 22 22
14|/ 4% 1k PGB 82 55 2 D AL #9400 m AT 7TH12A H 16.5 8 474 Tk 37 310 347
15| H AT FE ik 18 [ )1 #9100 0mA<t /T 7TH12A 5 17.6 5 69. 6 b <10 55 55
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